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< 5,760
i 13,440
02 YAFHAANFEE 19,200 9,600 9,600
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400,000 = 100HEH 4,000
| 4,000
A XNERZ X2 180,000 128,000 52,000
= 144,000
< 10,800
= 25,200
301 LEXZ 180,000 128,000 52,000
= 144,000
< 10,800
= 25,200




2N
X ZH -
L= B

el

oo
I
o
10
0

O 02 O
rz Jir oA
> oo =

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

R2IIEtE2d=
=

Ox2AE2

INEEEES DA

| 2 Ml (257ha)
180,000, 000&

Mo H

180,000

180,000
144,000
10,800
25,200

128,

000

H

17,526
17,526

22,

AN4,784

H

17,526
17,526

22,

AN4,784

& =& Xl 2 X (43ha)

17,526,000

W

17,526
17,526
17,526

22,

N4,784

Mo R

24,194
9,677
4,355

10,162

49,

350

N25,156

307 21201 A

Mo

24,194
9,677
4,355

10,162

49,

350

N25,156

[=]
ORI = XX A (Xt24, 194) [30ha]

48,387,000& * 50/100

HoH W

24,194

24,194
9,677
4,355

10,162

49,

350

N 25,156

EURLY

12,000

3,600
8,400

,550

450

EUNLY

12,000

3,600
8,400

,550

450

Xl_/.:III-iX

]

= 500,000& * 24ha

UL

12,000
12,000

3,600
8,400

,550

450

EURE

13,200

3,960
9,240

,500

A 300

307 glztol &

M

13,200

3,960
9,240

,500

A 300

o
N
=
FU

B

&

=

11

2
=

HI A=

e
s

P

=}

2
F=MUEXNE

30,000& = 4409

H

13,200
13,200
3,960

,500

A 300




2N
X ZH -
L= B

el

CEn'
st ololgs
= ARl

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| o 9,240
ddsg=sd 67,000 54,000 13,000
201 €2l 9,000 5,000 4,000
01 At 22/l 9,000 5,000 4,000
O=s%olg22S522ME(PLS) EE
3,000,000 3,000
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2,000,000 = 23l 4,000
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3,800,000 = 22 = 70/100 5,320
= 1,596
= 3,724
E LI H X & 249,489 337,608 A 88,119
= 160,920
& 17,714
= 70,855
307 giztol A 249,489 337,608 A 88,119
= 160,920
& 17,714
= 70,855
02 QIZIA AAIE E X 249,489 337,608 88,119
OEYMHMB2(HAA T 2,246E)
249,489,000 249,489
= 160,920
= 17,714
= 70,855
SIEH S ANRAS 1,780,052 2,563,200 A 783,148
= 1,112,532
= 200,256
= 467,264
307 2izto| A 1,780,052 2,563,200 A 783,148
= 1,112,532
= 200,256
= 467,264
02 QIZIA AAIE E X 1,780,052 2,563,200 A 783,148
OKRJIZHIZBRAAND(22,251E)
1,780,052,000& 1,780,052
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42,350

EUNL
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OHSS3E(UHE)MNE =X (XH15,000)
30,000,000& = 1JHA = 50/100 15,000

4,500
10,500
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OHSS3E (A 8)ME=XI& (X20,000)

5,000,000& =* 8IH & * 50/100 20,000
6,000
14,000

UL

Obi=3t & (tHE ) XI& (X+20,000)

20,000,000  2JHA = 50/100 20,000
6,000
14,000

UL

OH=3st& (A8 )R (X5,500)

11,000,000& » 1JHA = 50/100 5,500
1,650
3,850
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17,074
39,839

EUNL

307 21201 & 56,913 60,238 A3,325

17,074
39,839

EUNL

[m]
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[

IZHB &AL B X 56,913 60,238 N3,325
HEQ(HE)AEX & (X9,000)
2,000,000& * 9JH A * 50/100 9,000

2,700
6,300

O

M

OHEI (A8)AEXIA(XH10,000)

1,000,000 = 20004 = 50/100 10,000
3,000
7,000

UL

OHS I & Xl M X & (X37,500)

150,000& * 500ha * 50/100 37,500
11,250
26,250

UL

Ob=s24 HEXH(XH412)

550& * 1,50008 = 50/100 413
124
289

VR
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s 28,000
402 2I2H X201 M 44,500 50,000 25,500
< 16,500
s 28,000
02 2IZE 2 A EZ(OI XM TH ) 44,500 50,000 A5,500
OB &S 5224 20| X & (X+25,000)
10,000,000 = 5CH = 50/100 25,000
< 7,500
s 17,500
OBHMUHMAS =2 IS I XA (XH15,000)
3,000,000& * 10CH * 50/100 15,000
< 4,500
s 10,500
OHMBHMASIS QAL , KL A XA= D
A& 4,500,000& 4,500
< 4,500
HAMASHENESXNE 15,480 7,200 8,280
= 4,644
s 10,836
201 £B-2dH| 15,480 7,200 8,280
= 4,644
[ia 10,836
01 At 22l 15,480 7,200 8,280
OXNMASHEBXNZS X2 AL
72,0003 » 215& 15,480
< 4,644
s 10,836
=Et A ST X & AL 391,000 856,800 A 465,800
= 312,800
< 23,460
[ia 54,740
301 LeHBAF 391,000 856,800 A 465,800
= 312,800
< 23,460
s 54,740
12|24 = 391,000 856,800 A 465,800
O=Et& =S THHH XI & 3,400,000& * 115ha 391,000
= 312,800
< 23,460
i 54,740
2Z e K& 4,100 3,500 600
= 4,100
201 L4l 3,500 0 3,500
= 3,500
01 At 2t 2l 3,500 0 3,500
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< 900
e 2,100
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i 2,100
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[ia 2,100
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OdxHSESE=HH 55,000& * 1004 550
206 M= Hl 80,000 80,000 0
01 M= 4l 80,000 80,000 0
OZSHI=HEZEM 1,600& = 50,0000H 80,000
sHEMHELS XA 50,000 0 50,000
302 OI=2L Mol 24 = 50,000 0 50,000
02 BIAQITHOHE =R ESEL S 50,000 0 50,000
OSUTE AAHHET L SPSSSH2
50,000,000 = 14! 50,000
HEZZ2 ALY 5,700 7,500 A 1,800
201 et 3,200 5,000 A 1,800
01 At 22l 3,200 5,000 A 1,800
OLU=UAHEZ2ZX S9HIS HR2EH|
100,000& * 103l 1,000
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55,000& = 30CH » 50/100 825
= 247
s 578
Oodll =& Xl & (X+4,000)
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= 1,200
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ARESSMAIIEEL XA 35,000 0 35,000
< 10,500
= 24,500
402 RI2FXt20l 35,000 0 35,000
< 10,500
[ia 24,500
02 21t 2 AL EZ(OI XM TH ) 35,000 0 35,000
ORE2FAIIBr =S XI& (XH15,000)
50,000,000& = 1JHA * 70/100 35,000
< 10,500
s 24,500
REEAANY 35,000 16,800 18,200
< 10,500
[ia 24,500
301 LENF 35,000 16,800 18,200
< 10,500
s 24,500
12JIE 243 35,000 16,800 18,200
OHFSAAMNS 350,000& = 100ha 35,000
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M
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14,160
33,040
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Mo
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14,160
33,040

47,200
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31,027
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21,719

28,840

2,187
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31,027

9,308
21,719

28,840
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Mo
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9,308
21,719

28,840
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21,000
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H
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1,190,500% = 20ha * 70/100

M H
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5,000
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21,000
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HREHMsSOIHE SsIOIAH XA

H

54,000
54,000

54,000

402 212t A= 01 &

2l

54,000
54,000

54,000

(OI & &)
JtHE sJIAHAXKE

54,000,000&

H

54,000

54,000
54,000

54,000

SEx0ldatsRSIIEAENS

EUNE

14,000

4,200
9,800

14,000

402 BI2FX=201 M

14,000

14,000
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFUSIHELSHIMLX AL
100,000& * 160% * 50/100 8,000
OXESZsNHMMES P LHI XA
180,000,000 = 50/100 90,000
402 2I2H X201 M 670,000 2,000,000 A 1,330,000
01 2IZF 2 A B (KR ) 670,000 2,000,000 A 1,330,000
OFAXIHBSIHAEAS
1,000,000,000& * 50/100 500,000
OANESIRASHSINEE XX E M
300,000,000& = 50/100 150,000
OAMERJUHSZEZPOEIILAE SR A ALY
40,000,000& = 50/100 20,000
NHESLENHER = 3,000 3,000 0
201 Let4d] 3,000 3,000 0
01 At 22/l 3,000 3,000 0
ONGESILNMNEAZEENEZHE(PPTS) 3,000
—YEINENZHE 1,000,000 = 13l 1,000
—SLEINESVESHEH 2,000,000& = 13l 2,000
FHLASH=ESLHNH 867,000 834,000 33,000
< 260,100
[ia 606,900
402 QI2H X201 M 867,000 834,000 33,000
< 260,100
s 606,900
02 QIZEHE2AIS EZ (O THS) 867,000 834,000 33,000
ORUASEHS= X2 (X 867,000)
1,734,000,000& * 50/100 867,000
< 260,100
s 606,900
ANEJUHUHUHXEZZANEESKRA 326,468 0 326,468
= 130,587
< 58,764
s 137,117
402 2I2H X201 M 326,468 0 326,468
= 130,587
= 58,764
s 137,117
02 QI 2 A EZ (01X TH ) 326,468 0 326,468
OANE0UUXEZAIEES X (Xt326,468)
652,936,000& * 141 « 50/100 326,468
= 130,587
S 58,764
s 137,117
UEHALNFTS AR A 190,500 0 190,500
< 57,150
[ia 133,350

no




=3
H=sts oIS A
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SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
402 SI2FXHE0| M 190,500 0 190,500
== 57,150
= 133,350
02 CIZEXIE A EX (0| XM THL) 190,500 0 190,500
Oolsa , ARSI (XH190,500)
381,000,000& = 50/100 190,500
&< 57,150
= 133,350
ESAS(HA)MMSTHX A 139,350 0 139,350
J| 55,740
== 25,083
= 58,527
402 BI2H X 20| M 139,350 0 139,350
Jl 55,740
= 25,083
= 58,527
02 CIZEXIE AN E X (0| XM THL) 139,350 0 139,350
OESXZS(HA)MAA LSS UK K (233,444
XH105,906) 278,700,000€ = 50/100 139,350
J| 55,740
= 25,083
= 58,527
FTACHZH X| & , 754,553 440,600 1,313,953
= 75,000
Dl 524,169
o= 316,826
= 838,558
FTACH 28 2t 2| 79,500 74,500 5,000
307 212t0| & 55,000 50,000 5,000
02 DIZEB AAIE E X 55,000 50,000 5,000
QitEsIEIAIZ ZE 23 X & ALY (XH30,000)
100,000€ * 6002 = 50/100 30,000
Oltx=sII=MEX 22 KA (XF25,000)
2,000,000& * 25ha * 50/100 25,000
402 812t XHE0| ™ 24,500 24,500 0
01 St EANSEX (M) 24,500 24,500 0
QitEsIidglIZ2 X A (XH24,500)
7,000,000 = 7CH = 50/100 24,500
N = e A [N 31,500 65,500 A 34,000
o=} 9,450
= 22,050
402 SI2F 20| ™ 31,500 65,500 A 34,000
& 9,450
= 22,050
02 QX2 A E X (0| THS) 31,500 65,500 A 34,000
O 2H| X (XH16,500) 31,500
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9,000,000 = 3CH ~ 50/10 13,500
== 4,050
2 9,450
— S22, PSS (X3,000)
6,000,000 = 1CH = 50/100 3,000
== 900
= 2,100
— &5 8SS)| 5,000,000 = 3CH 15,000
= 4,500
= 10,500
WA MAMYIEZLESEMOXSE 38,130 54,600 N 16,470
& 5,499
= 32,631
307 212t0| & 38,130 54,600 N 16,470
& 5,499
= 32,631
02 DI2tF AAH B X 38,130 54,600 N 16,470
OUA MAHIE2ZLEE M DX (XH18,330) 38,130
— X EAADE S X2 (XH980)
280,000& = 7ha * 50/100 980
< 294
2 686
— DHALZ DI M F KX 2 (X9, 900)
33,0002 * 600MI=0IE * 50/100 9,900
= 2,970
2 6,930
~ BAFYIIHYHA R (ZHIFH2) (XH9,800)
33,000 * 1,200M =0lE * 50/100 19,800
—Hl g TS=3I|(XH4,950)
3,300,000 = 3CH = 50/100 4,950
= 1,485
2 3,465
— A SRR (RH2,500)
2,500,000 = 2CH = 50/100 2,500
& 750
= 1,750
SHEHS K DLX 10,000 90,000 80,000
= 3,000
= 7,000
402 BI2H X 20| M 10,000 90,000 A 80,000
o= 3,000
= 7,000
02 BIZEXI2 AN EX(0IETHH) 10,000 90,000 A 80,000
OsJgEd2M&10 4 X (XH10,000)
2,000,000 = 33EE0|E/3.3E0|IE ~ 50 10,000
/100
& 3,000
= 7,000
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19,000

8,550
19,950

S

EUNE

402 RI2HX=01 M 47,500 51,000 23,500

19,000
8,550
19,950

S

M

02 U2 THEALEZ(0IETHE) 47,500 51,000 A 3,500
A3 A (828,500 XH19,000

) 95,000,000 * 14l * 50/100 47,500
19,000
8,550
19,950

S

UL

ANE20 SN X & 1,262,923 0 1,262,923
505,169
227,327
530,427

S

EUNL

402 BI2HX=01 M 1,262,923 0 1,262,923
505,169
227,327
530,427

N

UL

[m]

02 2I2tXt= At

OAlZ &0l

HEXZ(0OIXMTHE) 1,262,923 0 1,262,923
S 3R 2 (XH1,262,922)

2,525,845,000& » 141 * 50/100 1,262,923
505,169
227,327
530,427

[

S

M

FIAWS AN Ut +=S S AL 95,000 65,000 30,000
28,500
66,500

UL

402 RI2HX=01 M 95,000 65,000 30,000

28,500
66,500

EUNE

02 P2 TE2ALEZ(0IETHR) 95,000 65,000 30,000

OFTAUH S CH Xl 2t == = 3t (X+95,000)

95,000,000& * 241 * 50/100 95,000
28,500
66,500

EUNE

NEAAMUAIZA =04 K& 55,000 25,000 30,000
16,500
38,500

UL

307 glztol & 55,000 25,000 30,000

16,500
38,500

Mo

02 AHFHAEEE 55,000 25,000 30,000

iy
i
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88,000,000 = 14! %= 62.5/100 55,000
& 16,500
= 38,500
gASESSHINSEXNRA 135,000 0 135,000
= 75,000
& 18,000
= 42,000
402 BI2H X 20| M 135,000 0 135,000
= 75,000
== 18,000
= 42,000
02 CIZEXIEAIS E X (0| XM THL) 135,000 0 135,000
ogxs2=AHIAM S A XA (XH15,000)
150,000,000 = 14! = 90/100 135,000
= 75,000
& 18,000
= 42,000
SMHERSIA 7,576,292 11,394,176 N 3,817,884
= 242,500
J| 1,016,100
== 1,334,065
= 4,983,627
SENMEEE 248,093 188,976 59,117
101 e1214| 18,343 17,836 507
04 J|12ZtHIZ22NEES 18,343 17,836 507
OdZ=EAEERS 18,343
-20 68,720& * 1¥ x 220 15,119
—FE5E 68,720& * 1H x 44= 3,024
— HA S| 100,000 = 23] 200
201 et 173,250 124,640 48,610
01 AR 22l ] 164,850 118,640 46,210
OSFTSUSMIRSUHSYARELY S
700,000 = 33| 2,100
OSSHSELUABHASH2(H40 S)H
&t 55,000& = 10H 550
OEAMSEETECH & 1,000 = 2,0008 2,000
OEANZSEZH|I(EHAl)
40,000 * 11504 * 12& 55,200
O=sEHMSAHHEHE LS
3,000,000& = 53| 15,000
OEASEEEAXNE 70,000,000& 70,000
OUESsENMNZIUZAIEES 20,000,000 20,000
02 224 H| 8,400 6,000 2,400
OZ2Z20ISA4E 2222 700,000 = 128 8,400
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202 Od4dl 4,500 4,500 0
01 = LHA YI 4,500 4,500 0
OSSHUHESHNSSBAMNEFTAS
250,000& = 2H =« 93| 4,500
301 LEMZ 2,000 2,000 0
09 SALAHIX A S 2,000 2,000 0
OSSHSESHABHAY DY
100,000& = 102 » 29H 2,000
307 21201 A 50,000 40,000 10,000
04 DIZHHALALSE E X 50,000 40,000 10,000
O8F=&2 It H 50,000,000& * 14l 50,000
FAMSURS2ZENEAY 590,000 520,000 70,000
307 glz2tol & 500,000 500,000 0
02 It M AHE X 500,000 500,000 0
OFAMSUREZE ALY 500,000,000& 500,000
401 A& BIZ 201 8] 70,000 20,000 50,000
01 A& HI 70,000 20,000 50,000
O NS HHMeANERNNE 20,000,000& 20,000
SELVENEEEENENERT
1,000,000& * 50K 50,000
402 2I2H X201 M 20,000 0 20,000
01 2IZE 2 A B (KR ) 20,000 0 20,000
OFAMS UM X TIH=X& 20,000,000 20,000
SASIUHABETZ 132,200 125,500 6,700
201 LB-2d| 8,500 4,500 4,000
01 At 2t 2l 8,500 4,500 4,000
O=sStss2six 1,000& » 5,000% 5,000
OBATBMHE (LAWY HLZE S)
1,750& = 2,0000H 3,500
202 oddl 22,700 20,000 2,700
01 = LH 4 1l 2,700 0 2,700
Os¢t=0HH g 8XIorY
300,000& = 3¥ = 33 2,700
03 =22 S0 bl 20,000 20,000 0
Odl=&=& 0l 20,000,000& 20,000
206 M= Hl 10,000 20,000 210,000
01 =8l 10,000 20,000 A 10,000
OMel+BAAUAZE D
50,0003 * 2004t Xt 10,000
301 getEd 3 18,000 18,000 0
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06 BI2HRI = 2| 04 HI 15,000 15,000 0
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E - G2 (3H) - NRAY - BES e HlDE2
03 RIAHAZ 22+ 32,199 30, 157 2,042
OBMZLLFREX 32,199
-= 8,590& * 209Al2t = 128 21,544
— &0 21,544,000& * 4/12 7,182
— 202 (15E 01 &)
40,0008 * 1% = 129 480
—NZezery
11,6453 = 1.5 » 1 = BAIZt = 128 1,049
— BE S0t 200,000& = 1 « 23] 400
— X 68,7203 52 344
— M Z A 100,000& » 12& 1,200
JHl(s& M) 108,720 120,624 A 11,904
223tl(s& M) 108,720 120,624 A 11,904
201 et | 26,520 28,464 A1,944
01 At 2teltl 26,520 28,464 A1,944
OJI=ARE+=EH| 30,0003 = 259 » 123 9,000
OJl2gR=HS20HAH|
8,000& = 25% * 32 123 7,200
ODNEEADIY R 300,000 = 1CH = 12& 3,600
OZA4dOIMESEHEY
300,000& = 4& = 33 3,600
OSFREuNLNET=ER 3,120,000 3,120
202 04 tl 78,000 87,360 A 9,360
01 = LH A HI 78,000 87,360 A 9,360
OsEULRFAHLI
20,0003 =+ 259% * 13g « 128 78,000
203 ¥R =&l 4,200 4,800 A 600
04 FANSEH =L 4,200 4,800 A 600
ORN2IEYR=AHI 350,000& = 12& 4,200
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